[image: image1.jpg]BERBZHFLF —FHAREA

ﬁ % (3R 2009. 1

FR 4 W 4
B | — | = I Tae Tan | ae [as [an | P
e

— BIEE. AKELS /NG, BES S, £40 5, EEMETIHMEMREF, EH
HEBBEERN—I,

(1) B4 4 U,ACB, IR A TS5 H o] B A B HY R ( )
(A)ANB=A (B)AUB=B (c)(C,A)NB=T (D)(C,BYNA=0
Q) IPLR y =24 BUEL FERE ' ( )

(Wy=-+  By=-5  (©y=-3 (D) y= -1

(3) K eREL y = cos2x B‘J@%#’El‘ﬁlﬁa=(‘}J)Wﬁfﬁ@?‘]éﬁﬁﬂx)E@@%,%K/A ( )
(A)f(x) = -sin2x +1 (B)f(x) =sin2x +1
(C)f(x) = —sin2x -1 (D)f(x) =sin2x -1

(4)7E AABC %, f A B .C Fixt 9143 591K a b e, W1k ¢ =3a,B =30°, B 2./ C T
¢ )

(A)120° (B)105° (C)90° (D)75°

(5) i Tt » BT A B b2 BEAH 2% 90°, B A.B Pﬁi&l‘ﬂﬁ@ﬁﬁﬁﬁ%’ﬁ%}R(R Sy 3R 2
7) B4 x %F ()
(A)30 (B) 45 (C) 60 (D)75 :

(6) ELIE LB R OB () RHERERY = RV S5 +1) =f(x =) +2, Bf(5) = 1T
2. f(62)%F «
(A)1 (B) 62 (C) 64 (D)83

(7)5%[]01,36{1,2,3,4,5},ﬁﬁ&ﬁﬁ:sina'cosﬁ<0 HIEOT (a,B8) A ( )
(A) 94~ (B) 114 (C) 124 (D) 13 4

(8) WA T2 FHER n(n>2) KA BATE—NFE o, H155% n KEHL5FH o HH
IR IR ASKAER n ()
(A BAEN3  (BYEKMN4  (CVBKAMENS (D) FAFFER A

¥ (BR) REH 1R





学而思教育·学习改变命运 思考成就未来！                 高考网www.gaokao.com

[image: image9.jpg]



[image: image2.jpg]A AT 6 E, BNES 5,330 5o BERAEIAPBE L,

2+4+6+---+2n _
2

(9) lim

1, Ixl<1,
(10w = WAL A = AER 2 - ) >

lxl >1

(1) LRI F F, 5MBIR DU BIPIARE 5, P B0 2 | — 5, %5 A PR,y S P =
Fa Tt , MBI 2R B 0 B |

2% -y=0,

y2x,  Hoz=2+y WRAEN I, ML b WD

1
y=z-x+0,

(12) 4 EH x.y W

(INBEHNERLx+y+m=0 50 +y =2 XFRAMBHAE A B, 0 ZAIRF L,
|04 + 0B 1 = 1AB1 35 4 L4 m WA TG 2
(14) B0 X FAEH ge N BBt f:A-B,BCN' #EA CCA, B C HETATTE X I
SZHMKFRETF ¢, WFk C HES AT TE
@ tFqg=2,4=1{a,b,cl,Beffraol,xe A WAEEAWFAFTFERNTEN

@ MFLEMq,A=11,2,3,4,5,6,7| WY [ A-B (R R RINTF K

x 1 2 3 4 5 6 ™

(=) 1 1 1 1 1 y z

LMY ChER w MED A P2 MRS CHELER A S S MBI, C %
A A WITFAE B TR R AR (g,y,2) -

Bee (B K8 % 2 |




[image: image3.jpg]SREE: RKAE GG, 80 5. MENSHITRR, RESBILBTRE,
(15) (A/MFSE 12 43)

EHIBRE f(x) =sin’x +2 3sin(«x +7l:r—)cos(x —%) - cos’x —/3.
(1) 3R eR% S ) B Be/IN T 8 50 760 2R 0528 0k [X ) 5

(I SREH o) 2| — %, 2o AR SEAE MEIEHS IR0 x (01

Bee (R 8 H 3 W




[image: image4.jpg](16) (A/MBZE 12 43)
B g(2) B (%) =22 (5 >0) MR EEL, £ M(%0,%0) N(50,%) SR f(x) |
g(x) S EHAL L AFIRES () g (x) EIRTIE M N PSR, B L /L.
( 1)3kK M. N FEHRER;
(1)Kt H 0.M N BRI (0 RAFREL).

B (M) B8R 4]




[image: image5.jpg](17) (A/NEHE 14 51)
0P, 7EIE S HekE ABC - 4,B,C, ', 55 D ¥ AB B A1, BC = 1,44, =/3.
( 1)3KiE:BC, /¥ A,DC;
(1)K C, B A, DC HIFEE;
(I)R—mAH D -A,C-A KK/

¥ (ERH) BEH S W




[image: image6.jpg](18) (A/MELE 14 43)

SRR e B84 4 0 4 B R 0 e B 0 T R P 1) TR 4R ) B B
T<1, ESEFIEE 0 76, % 1 < T<3, WS EAINEH 100 I8 2 7> 3, MASHEFHE A 200
TE. R GRS TSR RE ] T<1, | <T<3 & T>3 5 A0 % 4 1%
50K PPy Py X PP, RTFR 254" 152 +a =0 RMR, B P, = P,.
(1) P, ,P,,P, tfH;
(I)iE & Fm AT & R R L SRR 8 B RN AN, 3R £ My 91
() s 48548 9 4 30 50T o 88 A0 2 B R P14 £

g (ERL) B8 % 6 W




[image: image7.jpg](19) (A/NESE 14 5) |
BRI A(0,1) B(O, ~1) P B, ELEZ PA PB MAHEZ N - 5

( I)Rahs P RYHLE C B977
(M) Q(2,0), it ( -1,0) WEL I CF MNFA, AQMN WTFUCH S, 3 X1
RAFREREL |, A% S<AanMQN R, 5K A KIE/ME.

¥ (BERH) KE R T W




[image: image8.jpg](20) (A/NEFE 14 47)
IR EFEI] | a, | W5 SHERMIER M, AL ERR n, (15 a,, > M, W FRES

{a,} BR—EFIERI.

1 =135,

(1)%a, =3 +2sin(n) (n=1,2,3,),b,=| A3 I RS {a, |
n+1
Sn=2,4,6,,
(b, | BENTRERS], U0
(D)% a, =n+2, REEEESH b BT sk A+ 2 s S cn— o
W37 5 /
(M) ZHO | a, | B R T R IE R, SRAE AP 7E E R m, 18575
a, a, a,,
— 4+ <m -2009.
a, a, a,.,

B (R U 2R 8




8

